
 TM    23801 E. La Palma Ave., Yorba Linda, Ca 92887 Ph. 714.692.8180  Fax. 714.692.5016 
 

www.cobrausa.com  

04/05   TM 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

*  Cobra recommends you always wear a helmet while riding. Please never operate your motorcycle while under  
 the influence of alcohol and/or drugs. Enjoy the new look of your motorcycle and please ride safely.  

Items Supplied > 

1 – Luggage Rack 

4 – Bolt, M8x55mm Button Head  

Application(s) > 

KAWASAKI VULCAN 1600D 05-09 

Instruction Manual > 

Read all instructions carefully and completely before installing your new luggage rack.  

1. Remove the four M8 accorn nuts from the sissybar mounting bolts but DO NOT REMOVE the bolts at this time. 

2. Push the M8 bolts outward untill they are flush with the inside of the sissybar.  Slide the Cobra rack between the 
uprights of the sissybar and align with the holes.  Remove the stock bolts ONE at a time and replace them with 
the supplied M8 bolts.  Install the nuts removed in step 1 onto each bolt but DO NOT TIGHTEN at this time. 

3. Make sure the rack is level and properly aligned then tighten the bolts.  Torque all bolts to there appropriate 
values. 

 02-4442 

DOCUMENT NO.  0019REV. B 

 TM    23801 E. La Palma Ave., Yorba Linda, Ca 92887 Ph. 714.692.8180  Fax. 714.692.5016 
 

www.cobrausa.com  

04/05   TM 

 

*  Cobra recommends you always wear a helmet while riding. Please never operate your motorcycle while under  
 the influence of alcohol and/or drugs. Enjoy the new look of your motorcycle and please ride safely.  

Items Supplied > 

1 – Luggage Rack 

4 – Bolt, M8x55mm Button Head 

Application(s) > 

KAWASAKI VULCAN 1600D 05-09 

Instruction Manual > 

Read all instructions carefully and completely before installing your new luggage rack.  

1. Remove the four M8 accorn nuts from the sissybar mounting bolts but DO NOT REMOVE the bolts at this time. 

2. Push the M8 bolts outward untill they are flush with the inside of the sissybar.  Slide the Cobra rack between the 
uprights of the sissybar and align with the holes.  Remove the stock bolts ONE at a time and replace them with 
the supplied M8 bolts.  Install the nuts removed in step 1 onto each bolt but DO NOT TIGHTEN at this time. 

3. Make sure the rack is level and properly aligned then tighten the bolts.  Torque all bolts to there appropriate 
values. 

 02-4442 

DOCUMENT NO.  0019REV. A 


